WORKSHEET (ENGLISH 2" PAPER]

 Fill in the gap using the right form of verb:

We should all (d) (build) up our country.

You must have ____ (hear) the name of Robert Bruce.
On a rainy day it (rain) all the day.

Abir did not___ (perform) well in the previous match.
There____ (be) eleven members in each team.

A morning walk (refresh) our mind.
Here (be) your pen.

We eat to (live).
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The problem should be (solve).
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He works hard in order to___ (shine) in life.
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I'm looking forward to (see) Juman.
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The sentence does not (contain) any auxiliary verb.
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The man does not what my job is.
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We (‘kill’ in the negative) birds.
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Mobile phone (a) (be) one of the wonders of modern science.




